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1. (12 pts) Let {an} be a sequence such that
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for all n. Does Lim a, exist? If. so, find its value.
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2. (12 pts) Among all the ellipses
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that pass through the point (3,4) which one has the smallest area?
3. (12 pts) Find a continuous function f such that
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forallz > 0.
4. (12 pts) Find the sum of the series
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5. (12 pts) Solve the initial value problem:

zy’ —y=ga?cosT, y(r/2) =0.
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6. (12 pts) Show thatifa>—landb>a+ 1, then the following integral is convergent
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7. (14 pts) Suppose that p is & polynomial of degree n so that
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for k=0,1,2,--- ,n—1L Evaluate
Jo p(a) do
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8. (14 pts) Compute the limit
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